PHY 105 — Introduction — Exercises

Exercise 1
At t = 0, a particle moving in the xy plane with constant acceleration has a velocity of
V; = (3.00i — 2.00j) m/s when it is at the origin. At t = 3.00 s, the particle’s velocity
isV=(9.00f +7.00j) m/s Find

(a) the acceleration of the particle at any time t.
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Exercise 2

The vector position of a particle varies in time according to the expression F = (3.001 —
6.00t2§) m.

(a) Find expressions for the velocity and acceleration as functions of time.

(b) Determine the particle’s position and velocity at t = 1.00 s.
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Exercise 3
A football player kicked a ball with a speed of 25.0 m/s at a 35°. 0 angle. What is the speed

of the ball at t = 2.00 s.
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